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PARAMETRIC AND SLOPE-INTERCEPT EQUATIONS
OF A LINE IN PLANE

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

As soon as laws are necessary for men, they are no longer fit for freedom.
Pythagoras, philosopher and mathematician.

Match each given parametric equations of a line with the slope-intercept form equation of the same line.
Parametric equations:

1 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

2 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

3 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

4 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

5 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

6 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3− 3t,
y = −1 + 4t; t ∈ R
x = −4 + 4t,
y = 1 + 3t; t ∈ R

Slope-intercept form equations:

A y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4

B y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4

C y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4

D y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4

E y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4

F y = −3
4x + 3y = 4

3x − 4y = −4
3x + 4y = 3

4x + 3y = −4
3x + 3y = 3

4x + 4



You can go celebrate!Great, now you can try solving one of
the Millennium Prize problems!

Amazing! Incredible!Super-duper!
That is what I call a fine job!

You are an Einstein!Hermione’s top of the class title is
almost on the line.

Good work, have a biscuit.Almost there.
I’m sure you’ll even do better next time.

You’re almost rocking.It almost couldn’t have been better.
Almost.

Not bad! In some areas you haven’t got
enough knowledge yet.

Try again, practice makes perfect!Everyone can make a mistake. What’s
important is to learn from it and don’t

give up.

You understand this a bit,
but you still need to practice.

It’s not bad, but you can do better!You may not be a future Fields Medal
laureate, but you can do better on this

test.

It wasn’t Enigma,
so where is the problem?

Could be worse!Pity, you might need to practice more.That didn’t end up very well.
You should study more.

Let’s pretend it never happened.This is like a foreign movie to you;
you still need subtitles.

There was a time
Einstein couldn’t count to 10 either.

What a calamity!Mission failed. We’ll get them next time.




